EARAROBEEIERT — 2 N— IBISH —F

20185F9A21H (£) 11EAFH4H

LNl Y R 2 %

5

‘(36«;} = ‘ (sl — | 4 () 12000 RE

[A&4£] 17 :2,900,000 @ 23 :1,160,000 @ 3 & :725,000 § 4 7% :435,000 @ . 5 7 :290,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< N BEEXEH 7. - . — KEZEMH (KH)
1189 IYHYLT oy F— 4 2 an 1(1_7)4 2-1 40.2 2 (4E5) e
R:ZAv—h77)0> B3IV Fa1-—FT4 EH FER
S o " o2 | AEE 1:17.5 1-1 40.3| — 4 439 | EER (KH)
2|5|5| YT atY 54.0 (3/4) (=) BA—A
R:Y=ZZRE4—3=28— BHLF1IT8— &% =k
gy AT i 2 g&?gaz 171{:33 4-4 0.2 — 1 463 gﬁ{z (k)
RiFLIw Y/ RER BIVRXETVR )| mmss
TS 42 | BEARRE 1:18.3 9-5 39.9| — 8 442 | PEEZ (KH)
ETG—a—h— 54.0 (3 1/2) (=) AILEE
RN ELNT YT BFARIAF v PRI
R . K : - - HEEBRIK (K3H)
T —TFIYIN=Z # 2 2% 1(.11/82.>4 3-3 4.2 5 (41_1) -
LR T b F -G —K—F BEFZIrYaY INT IS
S, O N B :19. = . — MR (KFH)
Y RL=> "2 R0 180 [ e o ﬂ RS —
LHIRT TR B:Tv T h—> RaIER  SRThiE
= o2 | HllmR 1:19.4 6-7 N3 - 3 489 | BOBEL (KH)
71111 Fz*Z 54.0 () (=) | FAEX
L:xvTFL s —L B:F—KOFIxT Nk ik
R, T # o2 | BEX 1:19.4 8-9 “n.o0| — 9 514 |fREAL (i)
glz|7|P>T71>XEN 54.0 (2 E) (=) |DnEEfE
LBALNT Ry TR BT K- HREH s
o 4 2 | FNHEE 1:21.0 5-6 43.0| — 7 41 | USEER (KH)
9|8/ 8| F—A—A—ZX 5.0 ® () |TEAmE
R:A—Xx>J4L BT RLA 1EAE %7
® I—F—@EBIERL
13—-7-
23—7F—
3T—7— 5,9,3,2,8,1,4,7,6
43—+ — (5,9),3,2,6,8,1,4,7
[ N5
B 9 430 794K 5-9 480 & 5-8 1,230/ &R 2-5-9 940M
# B 9 1504 2-9 220 B 8-5 2,020 EE 9-5-2 6,810
5 1609 2-5 390M B = 5-9 1,550
2 1209 B H 9-5 2,810M

ABICOVWTRDTEEERROODE. TR LIV,




